20228 JAFALBES!) —EFHE F38 / 2022F IMRCILIEETEINS ' — 1) — X 538 / 20224EXCRRAT YU by THLiEE F 38 Jun19 2022
ARw L RT—IURRR (BE
[ Course [SSS UENOHOU 1 [Length (km)] 094 |
Stage Classification Total Classification
Pos | No Class | Pos| Driver / Co—Driver Time Diff (Prev)| Km/h Pos No Class | Pos| Driver / Co—Driver | Time (Pen) |Diff (Prev)
1 1 Ch-1 1K A 0:47.0 -l 72.00 1 1 Ch-1 1 (WK =A 0:47.0 -
EH BNE % NE
2 2 ch-1 | 2 [E84E EA 0:47.1 +0. 1] 71.85 2 2 ch-1 | 2 (B8R EA 0:47.1 +0. 1
mI BT (+0. 1) wWI BF (+0. 1)
3 10| ch1 | 3 |EB BBA 0:47.6 +0.6] 71.09 3 10| o1 | 3 |BF BA 0:47.6 +0.6
B% EBE (+0.5) B8H% EBE (+0. 5)
4 11 Ch-1 4 [ILE B 0:48.4 +1.4[ 69.92 4 11 Ch-1 4 [lUE % 0:48.4 +1.4
W OEE (+0.8) W IEE (+0.8)
5 6 Ch-1 5 (€8 A 0:48.5 +1.5| 69.77 5 6 Ch-1 5 |8 2OA 0:48.5 +1.5
FEH s (+0.1) FH  thk (+0. 1)
6 4 Ch-1 6 [ILA fE— 0:48.7 +1.7] 69.49 6 4 Ch-1 6 |[lLE #B— 0:48.7 +1.7
mT RBF (+0.2) wT RBF (+0. 2)
7 5 Ch-1 7 |B&iE  #05h 0:48.9 +1.9] 69.20 7 5 Ch-1 7 |#&E F05A 0:48.9 +1.9
AM BEF (+0.2) AW BEF (+0. 2)
8 9 Ch-1 8 (B =& 0:49.1 +2.1| 68.92 8 9 Ch-1 8 |Biy =A 0:49.1 +2.1
A% Ih (+0.2) A% Ih (+0. 2)
9 | 3| o1 | 9 KB E 0:49.6 +2.6| 68.23 9 3| ot [ 9 |KEE E 0:49.6 +2.6
¥H EB (+0.5) ¥H EB (+0.5)
=9 | 7 ch-1 | 9 [BRE = 0:49.6 +2.6] 68.23 =9 7 ch-1 | 9 [BREF = 0:49.6 +2.6
FER B (+0.0) FES (+0.0)
11 | 28 | xc-1 | 1 [HBiF W 0:50.5 +3.5] 67.01 11 28 | Xc-1 E: 2 I 0:50.5 +3.5
B =1 (+0.9) =g X8 (+0. 9)
12 | 24 Jr-1 1 [;kE %% 0:50.6 +3.6| 66.88 12 24 Jr-1 1 |5kE & 0:50. 6 +3.6
kB K% (+0. 1) KHE K= +0.1)
13 | 16 Ch-2 1 [ EERR 0:51.6 +4.6| 65.58 13 16 Ch-2 1 (lUA EERR 0:51.6 +4.6
HE = (+1.0) KA = (+1.0)
14| 8 Ch-1 | 11 K& H— 0:54.0 +7.0[ 62.67 14 8 Ch-1 [ 11 [ K B— 0:54.0 +1.0
oL =¥ (+2.4) oL E=RF (+2. 4)
15 | 13 | ch2 | 2 A BB 0:54.1 +7.1] 62.55 15 13| ch2 [ 2 ihAx EH 0:54.1 +7.1
R fi— (+0. 1) B fli— (+0. 1)
=15 15 Ch-2 2 (luMA Y — 0:54.1 +7.1| 62.55 =15 15 Ch-2 2 [lLE #®B— 0:54.1 +7.1
Kk  HEXKER (+0.0) Kk EXER (+0.0)
17 | 32 Op 1 | +mMmEd 0:54.3 +7.3| 62.32 17 32 Op 1 |y +PEeg 0:54.3 +7.3
it =i (+0.2) it =i (+0. 2)
18 | 26 Jr-2 1|88 E¥F 0:55.1 +8.1] 61.42 18 26 Jr-2 1|88 BT 0:55.1 +8. 1
HI BB (+0. 8) #Lt B (+0. 8)
19 | 12 Ch-2 4 |BFE —= 0:56.0 +9.0| 60.43 19 12 Ch-2 4 |BFE —= 0:56.0 +9.0
FH BEA (+0.9) FH BEA (+0. 9)
20 | 39 Cl-2 1|28 X#& 0:56. 6 +9.6| 59.79 20 39 Cl-2 1= K& 0:56. 6 +9. 6
o &KX (+0. 6) o BX (+0. 6)
21 | 21 Ch-3 1 ([Wzel —E 0:56.7 +9.7| 59.68 21 21 Ch-3 1 |LWzA —E 0:56.7 +9.7
Lz # (+0. 1) Wz = (+0. 1)
22 | 14| ¢ch2 | 5 [RA A 0:56.9 +9.9[ 59.47 22 14 [ ch-2 | 5 |FRS A 0:56.9 9.9
®’E LOS (+0.2) ke LOX (+0. 2)
23 | 37 Cl-2 2 |H® 5@ 0:57.9 +10.9| 58.45 23 37 Cl-2 2 (B I5E 0:57.9] +10.9
A AX (+1.0) A AX (+1.0)
24 [ 34| c-A | 1 [ RAKER 0:58.0] +11.0] 58.34 24 34 [ crA 1 |BE EAR 0:58.0] +11.0
FHE T8 (+0.1) HE T8 (+0. 1)
25 [ 25 | U2 2 |INBrF EE 0:58.6]/ +11.6] 57.75 25 25 [ Jr2 PN E Y] 0:58.6] +11.6
INFEF HEF (+0. 6) NFEFE HEF (+0. 6)
=25 36 | c-2 | 3 [BEBSY % 0:58.6] +11.6] 57.75 | [=25 36| c-2 |3 |@EBA & 0:58.6] +11.6
=K (+0.0) =K (+0.0)
27 | 23 Ch-4 N 0:59.8 +12.8| 56.59 27 23 Ch-4 1 |ZEH = 0:59.8 +12.8
SR M (+1.2) GEE M (+1.2)
28 | 33 CI-A 2 [&#F K 0:59.9 +12.9] 56.49 28 33 Cl-A 2 |&£F X% 0:59.9] +12.9
HEA EZ (+0. 1) HE EE (+0. 1)
29 | 22 Ch-3 2 |Hx El 1:00. 1 +13.1| 56. 31 29 22 Ch-3 2 |Htx Ed 1:00.1 +13.1
KBA HEF (+0.2) XBA HEF (+0.2)
30 | 20 Ch-3 3 [#aE $RER 1:00.8 +13.8| 55.66 30 20 Ch-3 3 |[#AE $RER 1:00.8 +13.8
BF¥ #-— (+0.7) EBF #— (+0.7)
31 | 40 Cl-2 4 [k R 1:02. 1 +15.1| 54.49 31 40 Gl-2 4 |Ihtk KA 1:02.1 +15. 1
ER Wt (+1.3) BER Wt (+1.3)
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ARw L RT—IURRR (BE
[ Course [SSS UENOHOU 1 [Length (km)] 094 |
Stage Classification Total Classification
Pos | No Class | Pos| Driver / Co—Driver Time Diff (Prev)| Km/h Pos No Class | Pos| Driver / Co—Driver | Time (Pen) |Diff (Prev)
32 [ 29| X1 [ 2 [ #B 1:02.5[ +15.5] 54.14 32 29 | Xc-1 | 2 [#(A TR 1:02.5] +15.5
% X (+0.4) B AKX (+0. 4)
33 [ 41 Ccl-2 5 |5 —# 1:03.2[ +16.2| 53.54 33 41 Cl-2 5 |{Kim —# 1:03.2] +16.2
FH X2 +0.7) RE X& +0.7)
34 [ 27 | U3 1 |98 BR 1:03.9[ +16.9] 52.96 34 27 | I3 1 |9E BR 1:03.9] +16.9
& mF (+0.7) &M mF (+0.7)
35 [ 31 | xc2 | 1 [y EBZ 1:04.2]  +17.2] 52.71 35 31 | xc2 | 1 [%W HBE 1:04.2] +17.2
me B (+0.3) mE B (+0.3)
36 | 30 | xc-1 3 [ = 1:04.9 +17.9] 52.14 36 30 [ xc-1 3 |l = 1:04.9] +17.9
AR RBE (+0.7) AIE RBRE (+0.7)
37 | 18 Ch-3 4 (A sE=sh 1:06. 1 +19.1| 51.20 37 18 Ch-3 4 |#EHE =5k 1:06.1 +19.1
BEE EF (+1.2) BH ¥ (+1.2)
38 [ 19 | ¢ch3 | 5 [R #hHiE 1:08.7[  +21.7| 49.26 38 19 | ch-3 | 5 [R 2B 1:08.7]  +21.7
Nt EE (+2.6) Izt fEE (+2.6)
39 | 17| ch3 | 6 | EE 1:10.1 +23.1] 48.27 39 17 ch-3 | 6 | EE 1:10.1]  +23.1
wmH (+1.4) wmH E=- (+1.4)
40 | 35 | C-A | 3 |mIF {EE 1:11.2]  +24.2| 47.53 40 35 | C-A | 3 |[aT1F fEE 1:11.2]  +24.2
CISEE AN +1.1) CISENE AN (+1.1)
41 41

*1 . $ERIFREIE 1455 12&5(SSS)
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